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Guess Paper – 2012
Class – XII
Subject – Computer Science
1. Define the terms:


(a) Tuple
(b)Attribute
     (c)Degree        (d)Cardinality


(4)                                                                                                                          
2. Write a function to count the number of lines not starting with alphabet ‘A’

       present in a text file “APPLY.TXT”.






(3)

3. Given a binary file SPORTS.DAT, containing records of the following structure 

       type:











(4)


struct Sports


{



char Event[20];



char Participant[20][30];


};

  Write a function in C++ that would read contents from the file SPORTS.DAT and

creates a file named ATHLETIC.DAT copying only those records from SPORTS.DAT

 where the event name is “Athletics”.

4. Predict the output.









(2)


void main( )


{


int p[3][4]={ {2,4,6,8},{10,12,14,16},{18,20,22,24} };


int *q=&p[0][0];


cout<<”1.”<<*(*(p+2)+1)<<endl;


cout<<”2.”<<*(*p+3)+5<<endl;


cout<<”3.”<<*(q+2)+2<<endl;


cout<<”4.”<<*(*(p)+2)+1<<endl;


}

5. What do you understand by function overloading? Give an example illustrating

    its use in a C++ program.








(2)

6. Write the output of the following code.






(2)



#include<iostream.h>



#include<conio.h>



void main()



{



int Q[3][4]={11,12,13,14,15,16,17,18,19,20,21,22};



int x,y;



for(x=0;x<3;++x)



for(y=0;y<4;++y)



if(Q[x][y]%2==1)



Q[x][y]--;



for(x=0;x<3;++x)



{



cout<<endl;



for(y=0;y<4;++y)



cout<<Q[x][y]<<”\t”;



}



}       

7. What is copy constructor? What do you understand by constructor 

      overloading?










(2)

8. Predict the output of the following code:






(3)



class A



{



protected:




int a;



public:




A(int x=1)




{




a=x;




cout<<”I am A\n”;




}




~A( )




{




cout<<”Bye from A\n”;




}




void func( )




{




a+=2;




cout<<a<<endl;




}



};



class B:public A



{




int b;



public:




B( )




{




b=5;




}




void func( )




{




b+=10;




cout<<b<<endl;




}




~B( )




{




cout<<”Bye from B\n”;




}



};



int main( )



{



A obj1;



B obj2;



obj1.func();



obj2.func();



}

9. Explain the types of users work on a database systems?



(3)   

10. Express P+Q’R in canonical SOP form.






(3)

11. What is the difference between actual parameter and formal parameter? 

    Give an example in C++ to illustrate both types of parameters.


(2)

12. Verify X’Y+XY’+X’Y’=(X’+Y’) using truth table .




(2)

13. Distinguish between the following two statements.




(2)


int *ptr=new int(5);


int *ptr=new int[5];

14. Write the output of the following code.






(3)



struct Alpha



{



int x,y;



};



void display(Alpha A)



{



cout<<”X=”<<A.x<<”Y=”<<A.y<<endl;



}



void main()



{



Alpha B={50,60},C,D;



D=B;



B.x+=10;



C=D;



C.x+=10;



C.y+=20;



D.x-=15;



display(B);



display(C);



display(D);



}

15. Consider the following code and answer the questions given below:

(4)



class MNC



{




char Cname[25];



protected:




char Hoffice[15];



public:




MNC( );




char country[25];




void enterdata( );




void displaydata( );



};



class Branch:public MNC



{




long NOE;




char Ctry[25];



protected:




void Association( );



public:




Branch( );




void Add( );




void Show( );



};



class Outlet:public Branch



{




char State[25];



public:




Outlet( );




void enter( );




void output( );



};

 (i)How many bytes does an object belonging to class Outlet require?

 (ii)Name the member functions which are accessed from the object of class Outlet.

 (iii)Name the data members which are accessible from the object of class Branch.

 (iv)Name all the protected members of class Branch.

16. Distinguish between the following two statements:




(2)


date D1(07,11,2011);


date D1=date(07,11,2011);

17. Define a class ‘Taxpayer’ based on the given description.



(4)



Data members: 

pan_id(integer type)





     
 name(character type)





      
income(double type)





      
tax(double type)



Member function:






inputdata(to enter the data)






displaydata(to display data)






computetax(to calculate tax)

      The tax is calculated according to the following rules:



income



rate of taxation

                above  500000



15%

                between 150000 & 500000

10%

                between 60000 & 150000


5%


      upto 60000




0%

18. Write a function  , which accepts an integer array and its size as arguments 

       and swap the elements of adjacent location.





(3)

           eg:- Array contains elements as     2,4,1,6,5,7,9,23,10,18

                  rearrange the array as            4,2,6,1,7,5,23,9,18,10

19. Write equivalent Boolean Expression for the following Logic Circuit.

(4)

       (i)     
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20. Find the output of the following program.





(3)


#include<iostream.h>


#include<ctype.h>


void Encrypt(char T[ ])


{


for(int i=0;T[i]!=’\0’;i+=2)


if(T[i]==’A’ || T[i]==’E’)


T[i]=’#’;


else if(islower(T[i]))


T[i]=toupper(T[i]);


else


T[i]=’@’;


}


void main( )


{


char Text[ ]=”SaVE EArtH”;


Encrypt(Text);


cout<<Text<<endl;


}

21. Reduce the following Boolean expression using K-Map:



(4)


(A,B,C,D)= ∑ (0,1,2,3,4,5,10,11,15)

22. Rewrite the following code after removing the syntactical error(s),if any.

      underline each correction.








(2)



#include<iostream.h>



cont int size 5;



void main()



{



int arr[size];



arr={10,20,30,40,50};



for(ctr=0;ctr<size;ctr++)



cout>>arr[ctr];



}

23. Write a user defined function in C++ to read the content from a text file called

      NOTES.TXT,count and display number of alphabets present in it.

(3)

24. An array arr[15][35] is stored in the memory along the column with each of its

     elements occupying 8 bytes.Find out the base address and the address of an 

     element Arr[2][5],if the location Arr[5][10] is stored at the address 4000.
(4)
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